

**CONNECTIONS BETWEEN
 $p = x^2 + 3y^2$ AND FRANEL NUMBERS**

ZHI-WEI SUN

Department of Mathematics, Nanjing University
Nanjing 210093, People's Republic of China
zwsun@nju.edu.cn
<http://math.nju.edu.cn/~zwsun>

ABSTRACT. The Franel numbers are given by $f_n = \sum_{k=0}^n \binom{n}{k}^3$ ($n = 0, 1, 2, \dots$). Let $p > 3$ be a prime. When $p \equiv 1 \pmod{3}$ and $p = x^2 + 3y^2$ with $x, y \in \mathbb{Z}$ and $x \equiv 1 \pmod{3}$, we show that

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv 2x - \frac{p}{2x} \pmod{p^2}.$$

We also prove that if $p \equiv 2 \pmod{3}$ then

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv -2 \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv \frac{3p}{\binom{(p+1)/2}{(p+1)/6}} \pmod{p^2}.$$

In addition, we propose several related conjectures for further research.

1. INTRODUCTION

Let $p \equiv 1 \pmod{4}$ be a prime and write $p = x^2 + y^2$ with $x \equiv 1 \pmod{4}$ and $y \equiv 0 \pmod{2}$. A famous result of Gauss (cf. B.C. Berndt, R.J. Evans and K.S. Williams [BEW, (9.0.1)]) states

$$\binom{(p-1)/2}{(p-1)/4} \equiv 2x \pmod{p},$$

which was refined by S. Chowla, B. Dwork and R.J. Evans [CDE] as follows:

$$\binom{(p-1)/2}{(p-1)/4} \equiv \frac{2^{p-1} + 1}{2} \left(2x - \frac{p}{2x} \right) \pmod{p^2}.$$

2010 *Mathematics Subject Classification*. Primary 11A07, 11E25; Secondary 05A10, 11B65, 11B75.

Keywords. Primes of the form $x^2 + 3y^2$, Franel numbers, congruences.

Supported by the National Natural Science Foundation (grant 11171140) of China.

In 2010 J. B. Cosgrave and K. Dilcher [CD] even determined $\binom{(p-1)/2}{(p-1)/4} \pmod{p^3}$. The author [Su11a, Conjecture 5.5] conjectured that

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2}{8^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2}{(-16)^k} \equiv \left(\frac{2}{p}\right) \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2}{32^k} \equiv \left(\frac{2}{p}\right) \left(2x - \frac{p}{2x}\right) \pmod{p^2}$$

(where $\left(\frac{\cdot}{p}\right)$ denotes the Legendre symbol), and this was confirmed by the author's twin brother Z.-H. Sun [S] with the help of Legendre polynomials. Furthermore, the author [Su12] proved that

$$\sum_{k=0}^{p-1} \frac{k \binom{2k}{k}^2}{8^k} \equiv 2 \sum_{k=0}^{p-1} \frac{k \binom{2k}{k}^2}{(-16)^k} \equiv \left(\frac{2}{p}\right) \left(\frac{p}{2x} - x\right) \pmod{p^2}.$$

When $p \equiv 3 \pmod{4}$ is a prime, the author [Su13b] showed that

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2}{8^k} \equiv - \sum_{k=0}^{p-1} \frac{\binom{2k}{k}^2}{(-16)^k} \equiv \frac{(-1)^{(p+1)/4} 2p}{\binom{(p+1)/2}{(p+1)/4}} \pmod{p^2}.$$

For $n \in \mathbb{N} = \{0, 1, 2, \dots\}$, we have the combinatorial identities

$$\sum_{k=0}^n \binom{n}{k}^2 = \binom{2n}{n} \quad \text{and} \quad \sum_{k=0}^{2n} (-1)^k \binom{2n}{k}^3 = (-1)^n \binom{2n}{n} \binom{3n}{n}$$

(see, e.g., [G, (3.66) and (6.6)]). Note that $\sum_{k=0}^n (-1)^k \binom{n}{k}^3 = 0$ for $n = 1, 3, 5, \dots$. A conjecture of the author [Su11b, Conjecture 5.13] states that if $p > 3$ is a prime then

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{24^k} \equiv \binom{p}{3} \sum_{k=0}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{(-216)^k} \equiv \begin{cases} \binom{2(p-1)/3}{(p-1)/3} \pmod{p^2} & \text{if } p \equiv 1 \pmod{3}, \\ p / \binom{2(p+1)/3}{(p+1)/3} \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

It is known that for any prime $p \equiv 1 \pmod{3}$ we can write $4p = u^2 + 27v^2$ with $u, v \in \mathbb{Z}$ and $u \equiv 1 \pmod{3}$, and we have

$$\binom{2(p-1)/3}{(p-1)/3} \equiv \frac{p}{u} - u \pmod{p^2}$$

(cf. [CD, Theorem 6]).

In [Su13a] the author introduced the polynomials $S_n(x) = \sum_{k=0}^n \binom{n}{k}^4 x^k$ ($n = 0, 1, 2, \dots$) and posed 13 related conjectures one of which states that for any prime $p > 2$ we have

$$\sum_{n=0}^{p-1} S_n(12) \equiv \begin{cases} 4x^2 - 2p \pmod{p^2} & \text{if } p \equiv 1 \pmod{12} \text{ \& } p = x^2 + y^2 \text{ (} 3 \nmid x \text{)}, \\ \left(\frac{xy}{3}\right) 4xy \pmod{p^2} & \text{if } p \equiv 5 \pmod{12} \text{ \& } p = x^2 + y^2 \text{ (} x, y \in \mathbb{Z} \text{)}, \\ 0 \pmod{p^2} & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$

In view of the above work, it is natural to investigate similar congruences involving the Franel numbers

$$f_n = \sum_{k=0}^n \binom{n}{k}^3 \quad (n \in \mathbb{N}) \quad (1.1)$$

(cf. [Sl, A000172]). These numbers were first introduced by J. Franel in 1894 who noted the recurrence relation

$$(n+1)^2 f_{n+1} = (7n(n+1) + 2)f_n + 8n^2 f_{n-1} \quad (n = 1, 2, 3, \dots).$$

For a combinatorial interpretation of the Franel numbers, the reader may consult D. Callan [C].

It is well known that any prime $p \equiv 1 \pmod{3}$ can be written uniquely in the form $p = x^2 + 3y^2$ with $x, y \in \mathbb{Z}^+ = \{1, 2, 3, \dots\}$ (cf. [Co, p. 7]). In this paper we reveal somewhat surprising connections between the Franel numbers and the representation $p = x^2 + 3y^2$.

Now we state our main result.

Theorem 1.1. *Let $p > 3$ be a prime. When $p \equiv 1 \pmod{3}$ and $p = x^2 + 3y^2$ with $x, y \in \mathbb{Z}$ and $x \equiv 1 \pmod{3}$, we have*

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv 2x - \frac{p}{2x} \pmod{p^2}. \quad (1.2)$$

If $p \equiv 2 \pmod{3}$, then

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv -2 \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv \frac{3p}{\binom{(p+1)/2}{(p+1)/6}} \pmod{p^2}, \quad (1.3)$$

and also

$$\sum_{n=0}^{p-1} \frac{\sum_{k=0}^n \binom{n}{k}^3 (m-1)^k}{m^n} \equiv 0 \pmod{p} \quad (1.4)$$

for any p -adic integer $m \not\equiv 0 \pmod{p}$.

Remark 1.1. For any prime $p > 3$, we are also able to show $\sum_{k=1}^{p-1} (-1)^k f_k / k^2 \equiv 0 \pmod{p}$ and determine $\sum_{k=1}^{p-1} (-1)^k k^r f_k$ modulo p^2 for $r = 0, \pm 1, 2$.

Next we pose five related conjectures for further research.

Conjecture 1.1. *Let $p > 2$ be a prime. Then*

$$\sum_{n=0}^{p-1} (-1)^n \sum_{k=0}^n \binom{n}{k}^3 4^k \equiv \sum_{n=0}^{p-1} \frac{f_n}{2^n} \pmod{p^2}. \quad (1.5)$$

Provided $p \equiv 1 \pmod{3}$ we have

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \pmod{p^3}. \quad (1.6)$$

If $p = x^2 + 3y^2$ with $x, y \in \mathbb{Z}$ and $x \equiv 1 \pmod{3}$, then

$$x \equiv \frac{1}{4} \sum_{k=0}^{p-1} (3k+4) \frac{f_k}{2^k} \equiv \frac{1}{2} \sum_{k=0}^{p-1} (3k+2) \frac{f_k}{(-4)^k} \pmod{p^2} \quad (1.7)$$

and

$$\sum_{n=0}^{p-1} (-1)^n n \sum_{k=0}^n \binom{n}{k}^3 4^k \equiv -\frac{5}{3}x \pmod{p}.$$

It is known that $\sum_{k=0}^n \binom{n}{k} f_k$ coincides with $g_n := \sum_{k=0}^n \binom{n}{k}^2 \binom{2k}{k}$ (cf. [St]). In view of this, Theorem 1.1 has the following consequence.

Corollary 1.1. *Let $p > 3$ be a prime. Then*

$$\sum_{k=0}^{p-1} \frac{g_k}{3^k} \equiv \sum_{k=0}^{p-1} \frac{g_k}{(-3)^k} \equiv \begin{cases} 2x \pmod{p} & \text{if } p = x^2 + 3y^2 \text{ (} x, y \in \mathbb{Z} \text{ \& } 3 \mid x-1 \text{),} \\ 0 \pmod{p} & \text{if } p \equiv 2 \pmod{3}. \end{cases} \quad (1.8)$$

The following conjecture is a refinement of Corollary 1.1.

Conjecture 1.2. *Let $p > 3$ be a prime. When $p \equiv 1 \pmod{3}$ and $p = x^2 + 3y^2$ with $x, y \in \mathbb{Z}$ and $x \equiv 1 \pmod{3}$, we have*

$$\sum_{k=0}^{p-1} \frac{g_k}{3^k} \equiv \sum_{k=0}^{p-1} \frac{g_k}{(-3)^k} \equiv 2x - \frac{p}{2x} \pmod{p^2} \quad (1.9)$$

and

$$x \equiv \sum_{k=0}^{p-1} (k+1) \frac{g_k}{3^k} \equiv \sum_{k=0}^{p-1} (k+1) \frac{g_k}{(-3)^k} \pmod{p^2}. \quad (1.10)$$

If $p \equiv 2 \pmod{3}$, then

$$2 \sum_{k=0}^{p-1} \frac{g_k}{3^k} \equiv - \sum_{k=0}^{p-1} \frac{g_k}{(-3)^k} \equiv \frac{3p}{\binom{(p+1)/2}{(p+1)/6}} \pmod{p^2}. \quad (1.11)$$

Conjecture 1.3. For any positive integer n ,

$$\frac{1}{2n^2} \sum_{k=0}^{n-1} (3k+2)(-1)^k f_k \in \mathbb{Z} \quad \text{and} \quad \frac{1}{n^2} \sum_{k=0}^{n-1} (4k+1)g_k 9^{n-1-k} \in \mathbb{Z}. \quad (1.12)$$

Moreover, for any prime $p > 3$ we have

$$\sum_{k=0}^{p-1} (3k+2)(-1)^k f_k \equiv 2p^2(2^p-1)^2 \pmod{p^5},$$

$$\sum_{k=0}^{p-1} (4k+1)\frac{g_k}{9^k} \equiv \frac{p^2}{2} \left(3 - \binom{p}{3} \right) - p^2(3^p-3) \pmod{p^4}.$$

Note that the sequences $(f_n)_{n \geq 0}$ and $(g_n)_{n \geq 0}$ are two of the five sporadic sequences (cf. D. Zagier [Z, Section 4]) which are integral solutions of certain Apéry-like recurrence equations and closely related to the theory of modular forms. Concerning sequences D and E in [Z, p. 354], we have not found interesting congruences similar to those in Theorem 1.1. For the sequence

$$w_n = \sum_{k=0}^{\lfloor n/3 \rfloor} (-1)^k 3^{n-3k} \binom{n}{3k} \binom{2k}{k} \binom{3k}{k} \quad (n = 0, 1, 2, \dots) \quad (1.13)$$

(which is sequence B in [Z, p. 354]), we have the following conjecture.

Conjecture 1.4. Let $p > 3$ be a prime. If $p \equiv 1 \pmod{3}$ and $4p = u^2 + 27v^2$ with $u, v \in \mathbb{Z}$ and $u \equiv 1 \pmod{3}$, then

$$\sum_{k=0}^{p-1} \frac{w_k}{3^k} \equiv \sum_{k=0}^{p-1} \frac{w_k}{9^k} \equiv \frac{p}{u} - u \pmod{p^2}. \quad (1.14)$$

If $p \equiv 2 \pmod{3}$, then

$$\sum_{k=0}^{p-1} \frac{w_k}{9^k} \equiv 0 \pmod{p^2}.$$

Remark 1.2. For any prime $p > 3$, we are able to prove that

$$\sum_{k=0}^{p-1} \frac{w_k}{3^k} \equiv p \sum_{k=0}^{\lfloor (p-1)/3 \rfloor} \frac{\binom{2k}{k} \binom{3k}{k}}{(3k+1)27^k} \pmod{p^2} \quad \text{and} \quad \sum_{k=0}^{p-1} \frac{w_k}{9^k} \equiv \sum_{k=0}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{(-216)^k} \pmod{p}.$$

Motivated by Remark 1.2, we propose one more conjecture.

Conjecture 1.5. *If $p = x^2 + y^2$ is an odd prime with $x, y \in \mathbb{Z}$ and $x \equiv 1 \pmod{4}$, then*

$$p \sum_{k=0}^{p-1} \frac{\binom{2k}{k} \binom{4k}{2k}}{(4k+1)64^k} \equiv \left(\frac{2}{p}\right) \left(2x - \frac{p}{2x}\right) \pmod{p^2}. \quad (1.15)$$

If $p = u^2 + 27v^2$ is a prime with $u, v \in \mathbb{Z}$ and $u \equiv 1 \pmod{3}$, then

$$p \sum_{k=0}^{p-1} \frac{\binom{3k}{k} \binom{6k}{3k}}{(6k+1)432^k} \equiv 2u - \frac{p}{2u} \pmod{p^2}. \quad (1.16)$$

In the next section we shall provide several basic lemmas. Section 3 is devoted to our proofs of Theorem 1.1 and Corollary 1.1.

2. SOME BASIC LEMMAS

Lemma 2.1. *Let $m \geq k \geq 0$ be integers. Then we have*

$$\sum_{n=k}^m \binom{n}{k} = \binom{m+1}{k+1}. \quad (2.1)$$

Remark 2.1. The identity is well-known (cf. [G, (1.5)]) and it can be easily proved by induction on m .

Lemma 2.2. *For any $n \in \mathbb{N}$ we have*

$$\sum_{k=0}^n \binom{n}{k}^3 z^k = \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n+k}{3k} \binom{2k}{k} \binom{3k}{k} z^k (1+z)^{n-2k} \quad (2.2)$$

and

$$f_n = \sum_{k=0}^n \binom{n+2k}{3k} \binom{2k}{k} \binom{3k}{k} (-4)^{n-k}. \quad (2.3)$$

Remark 2.2. (2.2) is an identity of MacMahon [M, p. 122] (see also [G, (6.7)] and [R, p. 41]). (2.3) can be easily proved by induction since we have the recurrence relation

$$(n+1)^2 u_{n+1} = (7n(n+1) + 2)u_n + 8n^2 u_{n-1} \quad (n = 1, 2, 3, \dots)$$

by applying the Zeilberger algorithm (cf. [PWZ, pp. 101–119]) via `Mathematica` 7, where u_n denotes the right-hand side of (2.3).

Recall that for a prime p and an integer $a \not\equiv 0 \pmod{p}$, the Fermat quotient $(a^{p-1} - 1)/p$ is denoted by $q_p(a)$.

Lemma 2.3 ([Y]). *Let $p \equiv 1 \pmod{3}$ be a prime and write $p = x^2 + 3y^2$ with $x \equiv 1 \pmod{3}$. Then we have*

$$\binom{(p-1)/2}{(p-1)/3} \equiv \left(2x - \frac{p}{2x}\right) \left(1 - \frac{2}{3}p q_p(2) + \frac{3}{4}p q_p(3)\right) \pmod{p^2}. \quad (2.4)$$

Lemma 2.4. *For any positive integer n we have the identity*

$$\sum_{k=0}^n \binom{n}{k} \frac{(-1)^k}{3k+1} = \prod_{k=1}^n \frac{3k}{3k+1}. \quad (2.5)$$

Proof. Recall that

$$B(a, b) := \int_0^1 t^{a-1} (1-t)^{b-1} dt = \frac{\Gamma(a)\Gamma(b)}{\Gamma(a+b)}$$

for any positive real numbers a and b . With the help of this, we have

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} \frac{(-1)^k}{3k+1} &= \sum_{k=0}^n \binom{n}{k} (-1)^k \int_0^1 x^{3k} dx = \int_0^1 (1-x^3)^n dx \\ &= \int_0^1 (1-y)^n (y^{1/3})' dy = \frac{1}{3} \int_0^1 y^{1/3-1} (1-y)^{(n+1)-1} dy \\ &= \frac{1}{3} B\left(\frac{1}{3}, n+1\right) = \frac{1}{3} \cdot \frac{\Gamma(n+1)\Gamma(1/3)}{\Gamma(n+1+1/3)} \\ &= \frac{n!}{(1+1/3) \cdots (n+1/3)} = \prod_{k=1}^n \frac{3k}{3k+1}. \end{aligned}$$

This proves (2.5). \square

Lemma 2.5. *Let $p > 3$ be a prime and let $\varepsilon = (\frac{p}{3})$. Then*

$$\sum_{k=1}^{(p-\varepsilon)/3} \frac{1}{2k-1} \equiv -\frac{3}{4} q_p(3) \pmod{p} \quad (2.6)$$

and

$$\binom{2(p-\varepsilon)/3}{(p-\varepsilon)/3} 2^{-2(p-\varepsilon)/3} \equiv \frac{1}{2-\varepsilon} \binom{(p-\varepsilon)/2}{(p-\varepsilon)/3} \left(1 - \frac{3}{4} p q_p(3)\right) \pmod{p^2}. \quad (2.7)$$

Proof. (i) It is known that for any $r \in \mathbb{Z}$ we have

$$\begin{bmatrix} p \\ r \end{bmatrix}_6 := \sum_{k \equiv r \pmod{6}} \binom{p}{k} = \frac{2^{p-1} - 1}{3} + \frac{\delta_r}{2} \left((-1)^{\lfloor (p+1-2r)/6 \rfloor} 3^{(p-1)/2} + 1 \right), \quad (2.8)$$

where δ_r takes 1 or 0 according as $3 \nmid p+r$ or not. This essentially follows from [G, (1.54)], and the present form was given in [Su02]. Note that for any $k = 1, \dots, p-1$ we have

$$\binom{p}{k} = \frac{p}{k} \binom{p-1}{k-1} \equiv \frac{p}{k} (-1)^{k-1} \pmod{p^2}.$$

Clearly

$$\begin{aligned} q_p(3) &= \frac{(-3)^{(p-1)/2} - \binom{-3}{p}}{p} \left((-3)^{(p-1)/2} + \binom{-3}{p} \right) \\ &\equiv \frac{2\varepsilon}{p} \left((-3)^{(p-1)/2} - \varepsilon \right) \pmod{p} \end{aligned}$$

and hence by (2.8) with $r = 0$ we have

$$\begin{aligned} \sum_{k=1}^{(p-\varepsilon)/3} \frac{1}{2k-1} &= \sum_{k=1}^{(p-1)/2} \frac{1}{2k-1} - \sum_{k=1}^{\lfloor p/6 \rfloor} \frac{1}{2((p+1)/2 - k) - 1} \\ &\equiv \frac{1}{p} \sum_{k=1}^{(p-1)/2} \binom{p}{2k-1} - \frac{3}{p} \sum_{k=1}^{\lfloor p/6 \rfloor} \binom{p}{6k} \\ &= \frac{1}{p} \left(\sum_{k \equiv 1 \pmod{2}} \binom{p}{k} - 1 \right) - \frac{3}{p} \left(\left[\begin{matrix} p \\ 0 \end{matrix} \right]_6 - 1 \right) \\ &= \frac{2^{p-1} - 1}{p} - \frac{3}{p} \left(\frac{2^{p-1} - 1}{3} + \frac{\varepsilon(-3)^{(p-1)/2} + 1}{2} - 1 \right) \\ &= -\frac{3}{p} \varepsilon \times \frac{(-3)^{(p-1)/2} - \varepsilon}{2} \equiv -\frac{3}{4} q_p(3) \pmod{p}. \end{aligned}$$

This proves (2.6)

(ii) Now we deduce (2.7). Observe that

$$\begin{aligned} \binom{(p-\varepsilon)/2}{(p-\varepsilon)/3} &= \prod_{k=1}^{(p-\varepsilon)/3} \frac{(p-\varepsilon)/2 + 1 - k}{k} = \prod_{k=1}^{(p-\varepsilon)/3} \frac{2k - 2 + \varepsilon - p}{2k} \\ &= \prod_{k=1}^{(p-\varepsilon)/3} \left(1 - \frac{p}{2k - 2 + \varepsilon} \right) \times \prod_{k=1}^{(p-\varepsilon)/3} \frac{2k - 2 + \varepsilon}{2k} \\ &\equiv \left(1 - \sum_{k=1}^{(p-\varepsilon)/3} \frac{p}{2k - 2 + \varepsilon} \right) \times \frac{\varepsilon}{2} P \pmod{p^2}, \end{aligned}$$

where

$$P := \prod_{k=2}^{(p-\varepsilon)/3} \frac{(2k-1+\varepsilon)(2k-2+\varepsilon)}{2k(2k-1+\varepsilon)} \\ = \frac{(2(p-\varepsilon)/3-1+\varepsilon)!/(1+\varepsilon)!}{2^{2((p-\varepsilon)/3-1)}((p-\varepsilon)/3)!((p-\varepsilon)/3+(\varepsilon-1)/2)!}$$

If $\varepsilon = 1$, then

$$\sum_{k=1}^{(p-1)/3} \frac{1}{2k-1} \equiv -\frac{3}{4}q_p(3) \pmod{p}$$

by (2.6), and

$$\frac{\varepsilon}{2}P = 2^{-2(p-1)/3} \binom{2(p-1)/3}{(p-1)/3}.$$

If $\varepsilon = -1$, then

$$\sum_{k=1}^{(p+1)/3} \frac{1}{2k-3} = \sum_{k=1}^{(p-2)/3} \frac{1}{2k-1} - 1 \\ \equiv -\frac{3}{4}q_p(3) - \frac{1}{2(p+1)/3-1} - 1 \equiv 2 - \frac{3}{4}q_p(3) \pmod{p}$$

by (2.6), and

$$\frac{\varepsilon}{2}P = -2^{-2(p+1)/3} \binom{2(p+1)/3}{(p+1)/3} \Big/ \frac{2p-1}{3}.$$

Therefore

$$\binom{(p-\varepsilon)/2}{(p-\varepsilon)/3} \equiv \left(1 + p \left(\frac{3}{4}q_p(3) + \varepsilon - 1\right)\right) 2^{-2(p-\varepsilon)/3} \binom{2(p-\varepsilon)/3}{(p-\varepsilon)/3} \frac{2-\varepsilon}{1+p(\varepsilon-1)} \\ \equiv (2-\varepsilon) \left(1 + \frac{3}{4}p q_p(3)\right) 2^{-2(p-\varepsilon)/3} \binom{2(p-\varepsilon)/3}{(p-\varepsilon)/3} \pmod{p^2}$$

and hence (2.7) follows.

The proof of Lemma 2.5 is now complete. \square

Lemma 2.6. *Let $p \equiv 1 \pmod{3}$ be a prime. Then*

$$\binom{p+2(p-1)/3}{(p-1)/3} \equiv \binom{2(p-1)/3}{(p-1)/3} \pmod{p^2} \quad (2.9)$$

and

$$\sum_{k=1}^{(p-1)/2} \frac{1}{3k-1} \equiv -\frac{2}{3}q_p(2) \pmod{p}. \quad (2.10)$$

Proof. Clearly

$$\begin{aligned} \frac{\binom{(p+2(p-1)/3)}{\binom{(p-1)/3}}}{\binom{(2(p-1)/3)}{\binom{(p-1)/3}}} &= \prod_{k=1}^{(p-1)/3} \frac{p+k+(p-1)/3}{k+(p-1)/3} = \prod_{k=1}^{(p-1)/3} \left(1 + \frac{3p}{p-1+3k}\right) \\ &\equiv 1 + 3p \sum_{k=1}^{(p-1)/3} \frac{1}{3k-1} = 1 + 3p \sum_{\substack{k=1 \\ k \equiv 2 \pmod{3}}}^{p-1} \frac{1}{k} \pmod{p^2}. \end{aligned}$$

It is trivial that

$$2 \sum_{\substack{k=1 \\ k \equiv 2 \pmod{3}}}^{p-1} \frac{1}{k} = \sum_{\substack{k=1 \\ k \equiv 2 \pmod{3}}}^{p-1} \left(\frac{1}{k} + \frac{1}{p-k}\right) \equiv 0 \pmod{p}.$$

So (2.9) holds.

By (2.8),

$$\begin{bmatrix} p \\ 2 \end{bmatrix}_6 = \frac{2^{p-1} - 1}{3} = \frac{p}{3} q_p(2).$$

Note that

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \frac{1}{3k-1} &= \sum_{k=1}^{(p-1)/3} \frac{1}{3k-1} + \sum_{k=1}^{(p-1)/6} \frac{1}{3((p-1)/3+k)-1} \\ &\equiv \sum_{\substack{k=1 \\ k \equiv 2 \pmod{3}}}^{p-1} \frac{1}{k} + \sum_{k=1}^{(p-1)/6} \frac{2}{6k-4} \\ &\equiv -\frac{2}{p} \sum_{\substack{k=1 \\ k \equiv 2 \pmod{6}}}^{p-1} \binom{p}{k} = -\frac{2}{p} \begin{bmatrix} p \\ 2 \end{bmatrix}_6 = -\frac{2}{3} q_p(2) \pmod{p}. \end{aligned}$$

This proves (2.10). \square

3. PROOFS OF THEOREM 1.1 AND COROLLARY 1.1

Proof of Theorem 1.1. For convenience we write $p = 2l + 1$ and divide the proof into three parts.

(I) Let m be any p -adic integer with $m \not\equiv 0 \pmod{p}$. By (2.2) we have

$$\begin{aligned} \sum_{n=0}^{p-1} \frac{\sum_{k=0}^n \binom{n}{k}^3 (m-1)^k}{m^n} &= \sum_{n=0}^{p-1} \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n+k}{3k} \binom{2k}{k} \binom{3k}{k} \frac{(m-1)^k}{m^{2k}} \\ &= \sum_{k=0}^l \binom{2k}{k} \binom{3k}{k} \left(\frac{m-1}{m^2}\right)^k \sum_{n=2k}^{p-1} \binom{n+k}{3k} \\ &= \sum_{k=0}^l \binom{2k}{k} \binom{3k}{k} \left(\frac{m-1}{m^2}\right)^k \binom{p+k}{3k+1} \quad (\text{by Lemma 2.1}). \end{aligned}$$

For each $k = 0, \dots, l$, clearly

$$\begin{aligned} \binom{2k}{k} \binom{3k}{k} \binom{p+k}{3k+1} &= \frac{p \prod_{0 < j \leq k} (p-k-j)}{(3k+1) \times (k!)^3} \prod_{0 < j \leq k} (p^2 - j^2) \\ &\equiv \frac{p(-1)^k}{3k+1} \binom{p-1-k}{k} \pmod{p^2}, \end{aligned}$$

hence when $3k+1 \neq p$ we have

$$\begin{aligned} \binom{2k}{k} \binom{3k}{k} \binom{p+k}{3k+1} &\equiv \frac{p(-1)^k}{3k+1} \binom{-1-k}{k} = \frac{p \binom{2k}{k}}{3k+1} = \frac{p(-4)^k}{3k+1} \binom{-1/2}{k} \\ &\equiv \frac{p(-4)^k}{3k+1} \binom{l}{k} \pmod{p^2}. \end{aligned}$$

Therefore

$$\begin{aligned} &\sum_{n=0}^{p-1} \frac{\sum_{k=0}^n \binom{n}{k}^3 (m-1)^k}{m^n} \\ &\equiv_p \sum_{\substack{k=0 \\ 3k+1 \neq p}}^l \left(\frac{4(m-1)}{m^2} \right)^k \binom{l}{k} \frac{(-1)^k}{3k+1} \\ &\quad + \begin{cases} \left(\frac{m-1}{m^2} \right)^{(p-1)/3} \binom{p-1-(p-1)/3}{(p-1)/3} \pmod{p^2} & \text{if } p \equiv 1 \pmod{3}, \\ 0 \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases} \end{aligned} \quad (3.1)$$

Clearly this implies (1.4) in the case $p \equiv 2 \pmod{3}$.

When $p \equiv 2 \pmod{3}$, (3.1) with $m = 2$ gives

$$\begin{aligned} \sum_{n=0}^{p-1} \frac{f_n}{2^n} &\equiv_p \sum_{k=0}^l \binom{l}{k} \frac{(-1)^k}{3k+1} = p \prod_{k=1}^l \frac{3k}{3k+1} \quad (\text{by Lemma 2.4}) \\ &\equiv_p \prod_{k=1}^l \frac{k}{k + (p+1)/3} = \frac{p}{\binom{l+(p+1)/3}{(p+1)/3}} = (-1)^{(p+1)/3} \frac{p}{\binom{-l-1}{(p+1)/3}} \\ &\equiv \frac{p}{\binom{l}{(p+1)/3}} = \frac{p}{\binom{(p+1)/2-1}{(p+1)/6-1}} = \frac{3p}{\binom{(p+1)/2}{(p+1)/6}} \pmod{p^2}. \end{aligned}$$

(II) In view of (2.3) and Lemma 2.1,

$$\begin{aligned} \sum_{n=0}^{p-1} \frac{f_n}{(-4)^n} &= \sum_{k=0}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{(-4)^k} \sum_{n=k}^{p-1} \binom{n+2k}{3k} = \sum_{k=0}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{(-4)^k} \binom{p+2k}{3k+1} \\ &= \sum_{k=0}^{p-1} \frac{p(p+k+1) \cdots (p+2k) \prod_{0 < j \leq k} (p^2 - j^2)}{(3k+1)(-4)^k (k!)^3} \\ &\equiv \sum_{k=0}^{p-1} \frac{p \binom{p+2k}{k}}{(3k+1)4^k} \pmod{p^2}. \end{aligned}$$

If $l < k \leq p-1$, then $p+k+1 \leq 2p \leq p+2k$ and hence $p \mid \binom{p+2k}{k}$. For $k=0, \dots, l$ we have

$$\binom{p+2k}{k} = \prod_{0 < j \leq k} \frac{p+k+j}{j} \equiv \prod_{0 < j \leq k} \frac{k+j}{j} \equiv \binom{l}{k} (-4)^k \pmod{p}.$$

Thus

$$\begin{aligned} \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} &\equiv_p \sum_{\substack{k=0 \\ 3k+1 \neq p}}^l \binom{l}{k} \frac{(-1)^k}{3k+1} \\ &+ \begin{cases} \binom{(p+2(p-1)/3)}{(p-1)/3} / 4^{(p-1)/3} \pmod{p^2} & \text{if } p \equiv 1 \pmod{3}, \\ p \binom{(p+2(2p-1)/3)}{(2p-1)/3} / (2p \times 4^{(2p-1)/3}) \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases} \end{aligned} \quad (3.2)$$

Combining this with (3.1) in the case $m=2$, we find that

$$\begin{aligned} &\sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} - \sum_{k=0}^{p-1} \frac{f_k}{2^k} \\ &\equiv \begin{cases} \left(\binom{(p+2(p-1)/3)}{(p-1)/3} - \binom{(2(p-1)/3)}{(p-1)/3} \right) / 2^{2(p-1)/3} \pmod{p^2} & \text{if } p \equiv 1 \pmod{3}, \\ \binom{(p+2(2p-1)/3)}{(2p-1)/3} / 2^{2(2p-1)/3+1} \pmod{p^2} & \text{if } p \equiv 2 \pmod{3}. \end{cases} \end{aligned} \quad (3.3)$$

By Lemma 2.6, if $p \equiv 1 \pmod{3}$ then (3.3) yields

$$\sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv \sum_{k=0}^{p-1} \frac{f_k}{2^k} \pmod{p^2}.$$

In the case $p \equiv 2 \pmod{3}$,

$$\begin{aligned} &\binom{p+2(2p-1)/3}{(2p-1)/3} = \binom{2p+(p-2)/3}{(2p-1)/3} \\ &= \frac{2p}{(p+1)/3} \prod_{k=1}^{(p-2)/3} \frac{2p+(p+1)/3-k}{k} \times \prod_{k=(p+4)/3}^{(2p-1)/3} \frac{2p+(p+1)/3-k}{k} \\ &\equiv 6p (-1)^{(2p-1)/3-(p+1)/3} \prod_{k=(p+4)/3}^{(2p-1)/3} \frac{k-(p+1)/3}{k} \\ &= -6p \times \frac{((p-2)/3)!}{\prod_{k=(p+4)/3}^{(2p-1)/3} k} = -\frac{12p}{\binom{(2(p+1)/3)}{(p+1)/3}} \pmod{p^2}, \end{aligned}$$

hence

$$\begin{aligned} \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} - \sum_{k=0}^{p-1} \frac{f_k}{2^k} &\equiv - \frac{12p}{\binom{2(p+1)/3}{(p+1)/3} 2^{(4p+1)/3}} \\ &\equiv - \frac{12p}{\frac{1}{3} \binom{(p+1)/2}{(p+1)/3} 2^{2(p+1)/3 + (4p+1)/3}} \quad (\text{by (2.7)}) \\ &= - \frac{36p}{\binom{(p+1)/2}{(p+1)/3} 2^{2(p-1)+3}} \equiv - \frac{9p}{2 \binom{(p+1)/2}{(p+1)/6}} \pmod{p^2} \end{aligned}$$

and thus

$$\sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv \sum_{k=0}^{p-1} \frac{f_k}{2^k} - \frac{9p}{2 \binom{(p+1)/2}{(p+1)/6}} \equiv - \frac{3p}{2 \binom{(p+1)/2}{(p+1)/6}} \pmod{p^2}.$$

(III) Below we assume $p \equiv 1 \pmod{3}$ and write $p = x^2 + 3y^2$ with $x, y \in \mathbb{Z}$ and $x \equiv 1 \pmod{3}$. We want to show that

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv 2x - \frac{p}{2x} \pmod{p^2}. \quad (3.4)$$

By (3.1) with $m = 2$, we have

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv p \sum_{k=0}^l \binom{l}{k} \frac{(-1)^k}{3k+1} - \binom{l}{(p-1)/3} (-1)^{(p-1)/3} + \frac{\binom{2(p-1)/3}{(p-1)/3}}{2^{2(p-1)/3}} \pmod{p^2}. \quad (3.5)$$

Applying Lemma 2.4 and noting that

$$\binom{l + (p-1)/3}{(p-1)/3} = \binom{-l-1}{(p-1)/3} = \binom{l-p}{(p-1)/3},$$

we get

$$\begin{aligned} p \sum_{k=0}^l \binom{l}{k} \frac{(-1)^k}{3k+1} &= p \prod_{k=1}^l \frac{3k}{3k+1} \\ &= p \prod_{k=1}^l \frac{(3k)^2(3k-1)}{(3k+1)3k(3k-1)} = \frac{3^{p-1}(l!)^2 p \prod_{k=1}^l (3k-1)}{(p-1)! p(p+1) \cdots (p+l)} \\ &= \frac{l! 3^{3l}}{\prod_{k=1}^l (p^2 - k^2)} \prod_{k=1}^l \left(k - \frac{1}{3}\right) \\ &\equiv (-3)^{3l} \binom{l-1/3}{l} = (-3)^{3l} \binom{l + (p-1)/3}{l} \Big/ \prod_{k=1}^l \frac{k + (p-1)/3}{k - 1/3} \\ &= (-3)^{3l} \binom{l-p}{(p-1)/3} \Big/ \prod_{k=1}^l \left(1 + \frac{p}{3k-1}\right) \pmod{p^2}. \end{aligned}$$

Clearly

$$\begin{aligned} (-3)^{3l} - 1 &= ((-3)^l - 1)((-3)^{2l} + (-3)^l + 1) \\ &\equiv \frac{3}{2}((-3)^l - 1)((-3)^l + 1) = \frac{3}{2}p q_p(3) \pmod{p^2} \end{aligned}$$

and

$$\begin{aligned} \frac{\binom{l-p}{(p-1)/3}}{\binom{l}{(p-1)/3}} &= \prod_{k=1}^{(p-1)/3} \frac{l+1-p-k}{l+1-k} = \prod_{k=1}^{(p-1)/3} \left(1 - \frac{p}{l+1-k}\right) \\ &\equiv 1 - p \sum_{k=1}^{(p-1)/3} \frac{1}{(p+1)/2 - k} \equiv 1 + 2p \sum_{k=1}^{(p-1)/3} \frac{1}{2k-1} \\ &\equiv 1 - \frac{3}{2}p q_p(3) \pmod{p^2} \quad (\text{by Lemma 2.5}). \end{aligned}$$

Therefore

$$\begin{aligned} p \sum_{k=0}^l \frac{\binom{l}{k} (-1)^k}{3k+1} \\ &\equiv \left(1 + \frac{3}{2}p q_p(3)\right) \left(1 - \frac{3}{2}p q_p(3)\right) \binom{l}{(p-1)/3} \prod_{k=1}^l \left(1 - \frac{p}{3k-1}\right) \\ &\equiv \binom{l}{(p-1)/3} \left(1 - \sum_{k=1}^l \frac{p}{3k-1}\right) \equiv \binom{l}{(p-1)/3} \left(1 + \frac{2}{3}p q_p(2)\right) \pmod{p^2} \end{aligned}$$

with the help of (2.10). Combining this with (3.5) and (2.7) we get

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv \binom{l}{(p-1)/3} \left(1 + \frac{2}{3}p q_p(2) - \frac{3}{4}p q_p(3)\right) \pmod{p^2}.$$

This, together with Lemma 2.3, implies the desired (3.4).

So far we have completed the proof of Theorem 1.1. \square

Proof of Corollary 1.1. Let m be 3 or -3 . Then $m-1 \in \{2, -4\}$. Observe that

$$\begin{aligned} \sum_{n=0}^{p-1} \frac{g_n}{m^n} &= \sum_{n=0}^{p-1} \frac{1}{m^n} \sum_{k=0}^n \binom{n}{k} f_k = \sum_{k=0}^{p-1} \frac{f_k}{m^k} \sum_{n=k}^{p-1} \binom{n}{k} \frac{1}{m^{n-k}} \\ &= \sum_{k=0}^{p-1} \frac{f_k}{m^k} \sum_{j=0}^{p-1-k} \binom{k+j}{j} \frac{1}{m^j} = \sum_{k=0}^{p-1} \frac{f_k}{m^k} \sum_{j=0}^{p-1-k} \binom{-k-1}{j} \frac{1}{(-m)^j} \\ &\equiv \sum_{k=0}^{p-1} \frac{f_k}{m^k} \sum_{j=0}^{p-1-k} \binom{p-1-k}{j} \left(-\frac{1}{m}\right)^j = \sum_{k=0}^{p-1} \frac{f_k}{m^k} \left(1 - \frac{1}{m}\right)^{p-1-k} \\ &\equiv \sum_{k=0}^{p-1} \frac{f_k}{m^k} \left(\frac{m}{m-1}\right)^k = \sum_{k=0}^{p-1} \frac{f_k}{(m-1)^k} \pmod{p}. \end{aligned}$$

By Theorem 1.1,

$$\sum_{k=0}^{p-1} \frac{f_k}{2^k} \equiv \sum_{k=0}^{p-1} \frac{f_k}{(-4)^k} \equiv \begin{cases} 2x \pmod{p} & \text{if } p = x^2 + 3y^2 \ (x, y \in \mathbb{Z} \ \& \ 3 \mid x - 1), \\ 0 \pmod{p} & \text{if } p \equiv 2 \pmod{3}. \end{cases}$$

So the desired (1.8) follows. \square

Acknowledgment. The author would like to thank the referee for helpful comments.

REFERENCES

- [BEW] B. C. Berndt, R. J. Evans and K. S. Williams, *Gauss and Jacobi Sums*, John Wiley & Sons, 1998.
- [C] D. Callan, *A combinatorial interpretation for an identity of Barrucand*, J. Integer Seq. **11** (2008), Article 08.3.4, 3pp.
- [CDE] S. Chowla, B. Dwork and R. J. Evans, *On the mod p^2 determination of $\binom{(p-1)/2}{(p-1)/4}$* , J. Number Theory **24** (1986), 188–196.
- [CD] J. B. Cosgrave and K. Dilcher, *Mod p^3 analogues of theorems of Gauss and Jacobi on binomial coefficients*, Acta Arith. **142** (2010), 103–118.
- [Co] D. A. Cox, *Primes of the Form $x^2 + ny^2$* , John Wiley & Sons, 1989.
- [G] H. W. Gould, *Combinatorial Identities*, Morgantown Printing and Binding Co., 1972.
- [M] P. A. MacMahon, *Combinatorial Analysis*, Vol. 1, Cambridge Univ. Press, London, 1915.
- [PWZ] M. Petkovšek, H. S. Wilf and D. Zeilberger, *A = B*, A K Peters, Wellesley, 1996.
- [R] J. Riordan, *Combinatorial Identities*, John Wiley, New York, 1979.
- [Sl] N. J. A. Sloane, Sequence A000172 in OEIS (On-Line Encyclopedia of Integer Sequences), <http://oeis.org/A000172>.
- [St] V. Strehl, *Binomial identities—combinatorial and algorithmic aspects*, Discrete Math. **136**(1994), 309–346.
- [S] Z.-H. Sun, *Congruences concerning Legendre polynomials*, Proc. Amer. Math. Soc. **139** (2011), 1915–1929.
- [Su02] Z.-W. Sun, *On the sum $\sum_{k \equiv r \pmod{m}} \binom{n}{k}$ and related congruences*, Israel J. Math. **128** (2002), 135–156.
- [Su11a] Z.-W. Sun, *On congruences related to central binomial coefficients*, J. Number Theory **131** (2011), 2219–2238.
- [Su11b] Z.-W. Sun, *Super congruences and Euler numbers*, Sci. China Math. **54** (2011), 2509–2535.
- [Su12] Z.-W. Sun, *On sums involving products of three binomial coefficients*, Acta Arith. **156** (2012), 123–141.
- [Su13a] Z.-W. Sun, *Conjectures and results on $x^2 \pmod{p^2}$ with $4p = x^2 + dy^2$* , in: Y. Ouyang, C. Xing, F. Xu and P. Zhang (Eds.), *Number Theory and Related Area*, Higher Education Press/International Press, Beijing/Boston, 2013, pp. 147–195.
- [Su13b] Z.-W. Sun, *Supercongruences involving products of two binomial coefficients*, Finite Fields Appl. **22** (2013), 24–44.
- [Y] K. M. Yeung, *On congruences for binomial coefficients*, J. Number Theory **33** (1989), 1–17.
- [Z] D. Zagier, *Integral solutions of Apéry-like recurrence equations*, in: *Groups and Symmetries: from Neolithic Scots to John McKay*, CRM Proc. Lecture Notes 47, Amer. Math. Soc., Providence, RI, 2009, pp. 349–366.